
SBI PO
Previous Year Paper

Prelims 7 June 2019 
Memory Based Paper 

Shift 1

Page - 1

KD Jo
b 

Upd
at

es



100 Questions

Que. 1 Arrange the sentences in the correct order and answer the following questions.
A. Over the past year, perceptions of relative U.S. economic power have declined in many of

America’s key trading partners and allies.
B. Following the onset of the financial crisis nearly a decade ago, Europeans increasingly named China,
rather than the U.S., as the world’s leading economic power. 
C. This year, however, the pattern has reversed itself again, and in countries such as Germany, the United
Kingdom and Spain, China is once more seen as occupying the top spot.
D. But in recent years, as the American economy slowly recovered, the pendulum began to swing back in the
direction of the U.S. 
E. The trend can be seen in several European countries, where views about the economic balance of power
have fluctuated in recent years. 

Which of the following is the THIRD statement?
A1.
B2.
C3.
D4.
E5.

Que. 2 Which of the following is the FIRST statement?
A1.

B2.
C3.
D4.
E5.

Que. 3 Which of the following is the SECOND statement?
A1.

B2.
C3.
D4.
E5.

Que. 4 Which of the following is the FIFTH statement?
A1.

B2.
C3.
D4.
E5.

Que. 5 Which of the following is the FOURTH statement?
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A1.
B2.
C3.
D4.
E5.

Que. 6 Read the sentence to find out whether there is an error in it. The error, if any, will be in one
part of the sentence. If there is no error, the answer is option (5). Ignore errors of punctuation,

if any.
Shooting as well as horse riding (1) are taught (2) to cadets at the National Defence (3) Academy every
morning. (4) 

11.
22.
33.
44.
No error5.

Que. 7 Read the sentence to find out whether there is an error in it. The error, if any, will be in one
part of the sentence. If there is no error, the answer is option (5). Ignore errors of punctuation,

if any.

The President, along with several international guests, (1) are to be present (2) during the swearing-in
ceremony (3) of the new government. (4)

11.
22.
33.
44.
No error5.

Que. 8 Read the sentence to find out whether there is an error in it. The error, if any, will be in one
part of the sentence. If there is no error, the answer is option (5). Ignore errors of punctuation,

if any.
India has a long way (1) to go to reach environmental (2) quality similar to that enjoyed (3) in
developed economies. (4)

11.
22.
33.
44.
No error5.

Que. 9 Read the sentence to find out whether there is an error in it. The error, if any, will be in one
part of the sentence. If there is no error, the answer is option (5). Ignore errors of punctuation,

if any.
Stories are all about going further reality (1) and it is no wonder that they (2) let you understand big
concepts with only (3) a little bit of reading practice. (4)

11.
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22.
33.
44.
No error5.

Que. 10 Read the sentence to find out whether there is an error in it. The error, if any, will be in one
part of the sentence. If there is no error, the answer is option (5). Ignore errors of

punctuation, if any.
Who wouldn’t love to chat (1)/ about who character is their favorite, (2) or predict what will happen
in a (3) suspense story they are reading? (4)

11.
22.
33.
44.
No error5.

Que. 11 Read the sentence to find out whether there is an error in it. The error, if any, will be in one
part of the sentence. If there is no error, the answer is option (5). Ignore errors of

punctuation, if any.
Over the last few decades, (1) the exploitation of our planet and (2) the degradation of our
environment have (3) grown up at an alarming rate. (4)

11.
22.
33.
44.
No error5.

Que. 12 Read the sentence to find out whether there is an error in it. The error, if any, will be in one
part of the sentence. If there is no error, the answer is option (5). Ignore errors of

punctuation, if any.
In June, the Swedish medical company (1) Elekta announced the introduction Watson (2) for
Oncology, a medical AI system developed (3) by IBM in the United States. (4)

11.
22.
33.
44.
No error5.

Que. 13 Parents prefer private schools. A global survey in 2017 found that they were a lot more likely to
give the teaching at their children’s school a positive rating if it was private than if it was public;

parents in Chile have voted with their children’s feet in favour of the private sector. The private sector’s
efficiency is one reason why it does well at providing access to education. Another is its speed: in fast-
growing cities, governments struggle to provide schools, but wherever there are people, schools spring up.
Governments are often less keen on private education. Some of the reasons for their hostility are bad ones: a
reluctance to cede power, the opportunity for patronage, the influence of teachers’ unions. But some are
entirely in order: governments need to promote quality, access to schooling and equity. The private sector is
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good at some, but not all, of those. Yet well-designed public-private partnerships can work. Two of the
world’s best education systems—those of the Netherlands and Hong Kong—are based on them. 
The main reason for the private sector’s superior efficiency seems to be teachers, who are paid less and are
more likely to turn up for work than at government schools. Politics has a lot to do with that. Teachers’
unions have huge bargaining power and can, therefore, protect their members from being held to account for
poor performance. An Indian study found that in 3,000 government schools, only one principal had ever
dismissed a teacher; among 600 private schools, 35 had.

Which of the following is TRUE based on the above passage?
However well-designed the public-private partnerships are, they can never effectively work.1.
Parents do not prefer public schools as they do not have responsible teachers.2.
Teachers’ unions have very less bargaining power and, therefore, exercise it with accountability. 3.
Well-designed public-private partnerships in the sector of education can be beneficial. 4.
Public schools are more affordable than private schools.5.

Que. 14 According to the above passage which of the following is true?
Private schools are failing at meeting the demands of the country's population.1.

The accountability of teachers is much higher in the private education sector than public.2.
Teachers' unions don't perform the tasks of saving incompetent teachers from getting fired. 3.
Parents these days are aware of the children and opt accordingly.4.
Private schools have a more positive rating among parents as compared to public schools. 5.

Que. 15 What does the author mean by the line ‘parents in Chile have voted with their children’s feet in
favour of the private sector’?

Parents in Chile gave favourable ratings to public schools over private ones. 1.
Parents in Chile gave the best ratings to public schools.2.
Parents in Chile gave favourable ratings to private schools over public ones. 3.
Parents in Chile gave the worst ratings to public schools.4.
Parents in Chile gave favourable ratings to public schools over all others.5.

Que. 16 Why does the author mention the Netherlands?
As an example of a well-designed public-private partnership in education that can work.1.

As an example of a well-designed public-private partnership in education that cannot work.2.
As an example of a debate about the public-private partnership in education.3.
As an example of a the disadvantages of the public-private partnership in education.4.
As an example of a the problems of the public-private partnership in education.5.

Que. 17 What is the author trying to convey through the passage?
To not compare the public schooling sector with the private one. 1.

To show the disadvantages of the public schooling sector.2.
To show the disadvantages of the private schooling sector.3.
To show that a public-private partnership in schools can work.4.
To show that a public-private partnership in schools cannot work.5.

Que. 18 Which of the words can explain the meaning of the word good in the passage?
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Advantageous1.
Efficient2.
Productive3.
All of these.4.
None of these.5.

Que. 19 Which of the following words are similar in meaning to cede in the passage?
Relinquish1.

Yield2.
Surrender3.
None of these.4.
All of these. 5.

Que. 20 What is the main reason for the private sector’s superior efficiency?
The efficiency of the teachers.1.

The power of the teachers' unions.2.
The high fees charged by the private schools.3.
The higher level of education provided by the private schools. 4.
The faith of the parents and the popularity of the private schools. 5.

Que. 21 In the following sentence, a part of the sentence is emboldened. Below are given alternatives
to the emboldened part, which may improve the sentence. Choose the correct alternative. In

case no improvement is needed, choose the alternative that indicates 'No improvement.'
Acting in front of the camera is easy acting on the stage, as there is no audience.

Ease than1.
Is easier than2.
Are easy3.
Will be easier4.
No improvement5.

Que. 22 In the following sentence, a part of the sentence is emboldened. Below are given alternatives
to the emboldened part, which may improve the sentence. Choose the correct alternative. In

case no improvement is needed, choose the alternative that indicates 'No improvement.'
The municipality has decided to collect dry and wet waste separate as every housing society.

Separately from1.
Separate in2.
In separation3.
Separate4.
No improvement5.

Que. 23 In the following sentence, a part of the sentence is emboldened. Below are given alternatives
to the emboldened part, which may improve the sentence. Choose the correct alternative. In

case no improvement is needed, choose the alternative that indicates 'No improvement.'
Though low inflation helps keep prices of commodities low, it can create unemployment.

Holds to keep1.
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Protects2.
Does not help3.
No improvement4.
Help to keeps5.

Que. 24 In the following sentence, a part of the sentence is emboldened. Below are given alternatives
to the emboldened part, which may improve the sentence. Choose the correct alternative. In

case no improvement is needed, choose the alternative that indicates 'No improvement.'
As an institute, we created qualify professionals for a highly globalized and digital-driven world.

No improvement1.
We train qualified2.
Qualified3.
Creating quality4.
Qualified training5.

Que. 25 In the following sentence, a part of the sentence is emboldened. Below are given alternatives
to the emboldened part, which may improve the sentence. Choose the correct alternative. In

case no improvement is needed, choose the alternative that indicates 'No improvement.'
Apart from providing "clean" electricity, the nuclear plant will providing clean drinking water to every
household in the area

Have provide1.
Also provides2.
Provide3.
No improvement4.
Had provide5.

Que. 26 Fill in the blank with the correct word.
The bulletproof vest _______ the young police officer's life by stopping the bullet from passing

through the vest.
Saved1.
Dignified2.
Protect3.
Stopped4.
Deleted5.

Que. 27 Fill in the blank with the appropriate option.
Although the medicine was once thought safe, _________ data has proven it to be harmful to

children.
Productive1.
Procreate2.
Recent3.
Individual4.
Plain5.

Que. 28 Fill in the blank with the appropriate option.
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In every workforce, there will be some people more _________ and thus better paid than others.
Capable1.
Lazy2.
Guard3.
Human4.
Monetary5.

Que. 29 Fill in the blank with the appropriate option.
His competence as an economist had been ______ by his successful fight against inflation.

Capable1.
Tired2.
Prejudice3.
Proved4.
Disturbed5.

Que. 30 Fill in the blank with the appropriate option.
The headhunters faced problems in _________ suitably qualified scientific officers for national

laboratories.
Order1.
Making2.
Last3.
Produce4.
Recruiting5.

Que. 31 The ratio of the A's present age and B's age 4 years ago is 7 : 8. After 8 years, ratio of age of A to
that of B is 9 : 11. Find the present age of B.

36 years1.
23 years2.
24 years3.
25 years4.
26 years5.

Que. 32 In a 170 lt mixture of milk and water the ratio of milk and water is 12 : 5. If 20% of the mixture
was taken out and 10 liters of water is added. Find the quantity of water in the new mixture.

60 litres1.
50 litres2.
70 litres3.
80 litres4.
90 litres5.

Que. 33 The cost price of A is double the cost price of B. If the selling price of B is Rs. 3600 and the profit
percentage is 20% then find the cost price of A.

36001.
42002.

KD Jo
b 

Upd
at

es



60003.
65004.
75005.

Que. 34 144 added to 40% of a number results in 188. Find the number.
1151.

1252.
1103.
1354.
1205.

Que. 35 A sum of Rs. X was invested in a scheme at the rate of 10% calculated on simple interest for 3
years and the amount received is further invested into another scheme for 2 years at a rate of 20%

compounded annually. If the final amount received is Rs. 12168, then find the value of X.
45001.
65002.
25003.
55004.
35005.

Que. 36 Find out the approximate value which should replace the question mark (?) in the following
question.

1/7.99 + 1/11.96 – 1/3.94 + 1/? = 0
241.
262.
343.
364.
445.

Que. 37 Find out the approximate value which should replace the question mark (?) in the following
question.

39.96% of (198.99 + 5.992) = ?
941.
962.
953.
974.
995.

Que. 38 Find out the approximate value which should replace the question mark (?) in the following
question.

17.01 + 23.04 – 48.01 ÷ √4.03 = ?2

161.
22.
43.
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64.
85.

Que. 39 Find out the approximate value which should replace the question mark (?) in the following
question.

23.02 – 13.19 × √9.09 + 200.02 = ?
2301.
1842.
2603.
3604.
3005.

Que. 40 Find out the approximate value which should replace the question mark (?) in the following
question.

4.03 × (6.02)2 - √120.89 + √144.06 = ?
1251.
1352.
1453.
1484.
1505.

Que. 41 Find out the approximate value which should replace the question mark (?) in the following
question.

8.02 – (? – 9.01) + (10.92)2 = 120
31.
-32.
183.
54.
25.

Que. 42 A started a business with the investment of Rs. 8000. After 4 months, B joins him with the capital
of Rs. 10000. After 8 months of starting the business, C also joins him with the capital of Rs.

15000. Find the share of C in the profit of Rs. 118000 after 1 year.
20001.
150002.
350003.
260004.
300005.

Que. 43 The cost of gardening a circular field C at the rate of 10 Rs./m2 is Rs. 3465. The side of square S is
equal to the diameter of the circle C. Find the perimeter of the square S.

761.
922.
843.
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684.
655.

Que. 44 Direction: The given bar graph shows the number of workers in a factory.

  Above the age of
40 years

A 50
B 70
C 110
D 120

If 40% of the total number of workers in a factory A and C together are females and 20% of the number of
workers in a factory B are males. Find the total females in factory A, B and C together.

5101.
4482.
5363.
4004.
3565.

Que. 45 If the total number of males and females in a new factory E is 20% more than the total number of
males and females in factory D and the ratio of the number of males and females in factory E is 7 :

5. Find the number of females in factory E.
2201.
2242.
1803.
1604.
2405.

Que. 46 If 60% of the workers above 40 years in factory A and C together and 50% of the workers above
40 years in factory B and D together is females then find the ratio of the number of males in factory

A and C to factory B and D together who were above 40 years of age.
75 : 831.
29 : 552.
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64 : 953.
38 : 594.
67 : 855.

Que. 47 In factory C, the number of males above 40 years of age is 30 and in factory A, the number of
males above 40 years is 30. Find female workers above the age of 40 in factory C is how much

percent more/less than the number of female workers above the age of 40 in factory A?
300%1.
400%2.
150%3.
200%4.
600%5.

Que. 48 If the total number of females above 40 years in all the factories is 20% then what will be the
average number of female workers above 40 years in all the factories?

17.11.
17.22.
17.53.
17.84.
17 5.

Que. 49 Find the total number of workers in all the factories whose age is below 40 years.
8401.

8602.
9103.
9154.
9255.

Que. 50 Direction: The given pie chart shows the distribution of 5000 animals in 5 different forests.

Note: The animals are of 3 types: 1. Herbivores 2. Carnivores 3. Omnivores

Find the ratio of the number of animals in the forest A and B together to the number of animals in the forest
D and E together.
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1 : 21.
2 : 32.
3 : 43.
4 : 54.
5 : 65.

Que. 51 If the number of herbivores animals in forest E is half of the carnivores animals in the same forest
and equal to the number of omnivores animals in the same forest then find the number of

herbivores animals in forest E.
5001.
2002.
3003.
4004.
6005.

Que. 52 If total number of carnivores animals in all the forest is 10%. Then find the average number of
carnivores animals in all the forest.

1001.
2002.
303.
404.
565.

Que. 53 If 25% of the animals in forest A is omnivores. Then the number of omnivores animals in the forest
A is what percent of the total number of animals in the forest D?

16%1.
20%2.
36%3.
40%4.
50%5.

Que. 54 The total number of animals in the forest A, B and C together is what percent more or less than the
total number of animals in the forest D and E together?

10%1.
20%2.
32%3.
0%4.
5%5.

Que. 55 What will come in place of question mark (?) in the following series?
18, 26, 53, 117, 242, ?

4581.
2162.
5183.
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4684.
4785.

Que. 56 Find the missing number in the series
100, 108, 98, 106, 96, ?

1041.
1072.
1083.
2044.
1145.

Que. 57 Find the missing number in the series
2, 1, 1, 1.5, 3, ?

5.51.
6.52.
7.53.
64.
75.

Que. 58 Find the missing number in the series
18, 24, 36, 56, 86, ?

1281.
2562.
1563.
1444.
1965.

Que. 59 Find the missing number in the series
1, 11, 99, 693, 3465, ?

89461.
112962.
103953.
129744.
102965.

Que. 60 Directions: There are 3500 employees in a company working in three departments namely,
Production, Marketing and Accounts. The ratio of male to female employees is 13 ∶ 7. 30% of the

employees are in the Accounts department. 20% of the males are in the Production department. Number of
female employees in the Production department are two third the number of employees in the Accounts
department. The ratio of male and female employees in the Marketing department is 5 ∶ 2.
What is the ratio of female to male in the Accounts department?

179 ∶ 311.
31 ∶ 1792.
13 ∶ 1793.
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179 ∶ 13 4.
1 ∶ 135.

Que. 61 What percentage of male employees work in the Accounts department?
401.

34.392.
39.343.
49.344.
43.395.

Que. 62 What is the number of female employees in the Production department?
10501.

7002.
3503.
5304.
7355.

Que. 63 What is the difference between the no. males in the Marketing department and the Production
department?

4701.
4902.
7403.
9404.
7905.

Que. 64 A train crosses a platform having a length of 300 m in 30 seconds and a standing pole in 10
seconds. Calculate the length of the train in meters.

85 m1.
220 m2.
150 m3.
200 m4.
110 m5.

Que. 65 In a set of 6 numbers, the average of first four is 10 and that of last four is 8. If the average of all
the six numbers is 9, then find the average of the third and fourth number.

71.
82.
93.
104.
115.

Que. 66 Direction: Study the information carefully and answer the given questions.
Eight people A, B, C, D, E, F, G and H are sitting around a circular table with equal distance

between them. Some of them are facing the centre while others are facing outside (i.e. opposite to the centre).
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H is an immediate neighbor of F. F faces the centre. Only three people sit between F and A. C sits third to the
left of A. Immediate neighbors of C face the same direction (i.e. if one neighbor faces the centre than the
other also faces the centre and vice versa). G sits to the immediate right of B. B is an immediate neighbor of
H.D sits second to the left of G. Immediate neighbors of D faces opposite direction (i.e. if one neighbor faces
the centre other faces outside the centre and vice-versa). E sits to the immediate left of C. Both D and H face
a direction opposite to that of E (i.e. if E faces the centre then both D and H face outside the centre and vice
versa).

Who among the following sits second to the left of H?
C1.
E2.
G3.
B4.
None of these5.

Que. 67 Four of the following five pairs are alike in a certain and hence form a group. Which among the
following does not belong to that group?

AG.1.
DB.2.
CF.3.
DH.4.
BE5.

Que. 68 If D and B interchange their position, then which among the following sits second to the right of A
as per the new arrangement?

D1.
B2.
E3.
C4.
None of these5.

Que. 69 How many persons sit between E and F when counted from the left of E?
One1.

Four2.
Three3.
None of these4.
Five5.

Que. 70 What is the position of A with respect to G?
Immediate Right1.

Third to the Right2.
Third to the Left3.
Immediate Left4.
Second to the Left5.
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Que. 71 Direction: In the question below are given two statements followed by two conclusions numbered
I and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statement:
No apple is gloves.
All boats are apple.
All radios are boat.
Conclusion:
I. At least some apples are boats.
II. All gloves are radios.

Only I follows1.
Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follow5.

Que. 72 Direction: In the question below are given three statements followed by two conclusions
numbered I and II. You have to take the given statements to be true even if they seem to be at

variance with commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding commonly known facts.
Statements:
Only a few wines are cashews.
Few bottles are wines.
No dot is cashew.
Conclusion:
I. At least some wines are dots.
II. All cashews being bottles is a possibility.

Only I follows1.
Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follow5.

Que. 73 Direction: In the question below are given two statements followed by two conclusions numbered
I and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
All grains are band.
All poets are band.
No band is a lubricant.
Conclusion:
I. All bands being grain is a possibility.
II. No poet is a lubricant.

Only I follows1.
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Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follow5.

Que. 74 Direction: In the question below are given three statements followed by two conclusions
numbered I and II. You have to take the given statements to be true even if they seem to be at

variance with commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding commonly known facts.
Statement:
Only a few circles are Dollars.
Some Dollars are Soaps.
No rectangle is a circle.
Conclusion:
I. All circles being rectangles is a possibility.
II. Some rectangles are definitely not soaps.

Only I follows1.
Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follow5.

Que. 75 Direction: Read the information carefully and answer the questions asked below.
Karthik is at point H and is facing towards East. He started walking from point H and walked 60 m

to reach a point Z. From Z he has taken a right turn and walked 54 m to reach W, and again taken a left turn
and walked 50 m to reach point S. Arjun started from point F and walked 30 m towards West direction to
reach point G. From G he takes a left turn and walked 54 m to reach point S. 

What is the distance between H and F?
118 m1.
110 m2.
150 m3.
140 m4.
120 m5.

Que. 76 In which direction is point W with respect to point G?
South – West1.

North – West2.
North3.
South – East4.
South5.

Que. 77 Four of the following five are alike in a certain way, which among the following does not belong to
the group?

Z1.
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F2.
W3.
G4.
H5.

Que. 78 Direction: Study the following information carefully and answer the questions given below.
Ten people are sitting in a straight line facing North with equal distance between each other. 

Only 3 people sit to the left of M. Only one person sits between M and R. P sits third to the right of R. As
many people sit to the right of P as to the left of Q. Only three people sit between Q and S. U is an immediate
neighbor of S. T sits second to the left of W.  N sits to the immediate right of V.

How many people sit between N and R?
Four1.
Two2.
Five3.
One4.
Three5.

Que. 79 Who sits second to the right of Q?
W1.

R2.
M3.
T4.
N5.

Que. 80 Which of the following pairs represents persons seated at the two extreme ends of the line?
QW1.

ST2.
TQ3.
UN4.
WS5.

Que. 81 Four of the following five are alike in a certain way and so form a group. Who among the
following does not belong to the group?

SP1.
UV2.
WT3.
MR4.
VP5.

Que. 82 Which of the following statement is definitely true?
Two people sit between V and W1.

V sits 3rd to the right of S2.
M sits at extreme left end3.
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None of the given statement is true4.
P sits immediate left of Q5.

Que. 83 How many pairs of letters are there in the word “MERCHANT” which has as many letters between
them as in the English alphabetical series? (in both forward and backward direction)

Two1.
Three2.
Four3.
More than four4.
One5.

Que. 84 In a word "MODELLING", if all letters are arranged in the alphabetical order, and then the vowels
are changed to the previous letter and the consonants are changed to the next letter as per the

English alphabetical series, then how many letters do not repeat more than once?
Three1.
Four2.
None3.
One4.
Five5.

Que. 85 Directions: Study the following information and answer the given questions:
There are six people A, B, C, D, E, and F of different heights. A is taller than D and C. B is taller

than A but shorter than E. C is not the shortest person. D is shorter than only three-person. The third tallest
person has 115cm height.
Who is the tallest?

F1.
E2.
A3.
C4.
D5.

Que. 86 If the height of A and E is 235cm and the height of A and D is 220cm, then what is the height of E
?

801.
1202.
853.
954.
1005.

Que. 87 Directions: Read the following information carefully and answer the questions that follow.
A, B, C, D, E, F, G, and H live on 8 different floors of 8 storey building. The lower most floor is

numbered 1. The one above it, is numbered 2. Going on like this, the topmost floor is numbered 8. One
person lives on each floor.
B lives on an odd-numbered floor above floor 3. Two people live between B and C. Three people live
between C and D. The number of people who live below C is equal to the number of people who live
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above A. F lives on two floors above C. G lives on one of the floors below E and H lives on one of the floors
above both G & E. A lives on one of the floors above D.

Four of the following five are alike in a certain way and hence they form a group, which one of the following
does not belong to the group?

GE1.
DH2.
EB3.
CD4.
FD5.

Que. 88 On which of the following floors A lives?
2nd1.

7th2.
4th3.
1st4.
None of these5.

Que. 89 Which of the following statements is not correct?
H lives on the topmost floor1.

G lives immediately below C2.
D lives on the even numbered floor3.
All of the above are correct4.
There are three people living between E and H5.

Que. 90 Who lives immediately above F?
H1.

B2.
C3.
E4.
A5.

Que. 91 How many people live exactly between C and A?
11.

32.
53.
44.
25.

Que. 92 Which of the following would replace @ and # in the following expression so that ‘N > Y’ is
definitely true?

S ≥ Z = R @ Y; A = Z # B = N
≥, ≥1.
 <, > 2.
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>, <3.
≤, ≥4.
≥, >5.

Que. 93 In which of the following expressions will the expression ‘H < J’ will be definitely true?
G < H = I = J1.

H > G > I = J2.
J = I ≥ G > H3.
H ≥ G > I < J4.
None of these5.

Que. 94 Directions: In the following question, how to place the symbols so that both the conditions, A ≤ T
and B < Z, definitely hold true when all the expressions are considered together?

Z ____ T ≥ L; B ________ T; P < A ______ L
> , ≤, ≤1.
> , =, <2.
≤, ≤, <3.
<, = , > 4.
> , =, >5.

Que. 95 Four of the following five are alike in a certain way and so form a group. Which is the one that
does not belong to that group?

DGIK1.
ZWUS2.
KNPR3.
QTVX4.
HKMO5.

Que. 96 Study the following information carefully and answer the questions given below.
Six teachers A, B, C, D, E, and F are going to attend the meeting in a famous ground of Delhi, on

different months viz. January, April and August but not necessarily in the same order. In each month, they
will attend the meeting on dates 5th or 11th of the given month. Only one teacher will attend the meeting on
these given dates. B will attend the meeting on 11th of any of the given month but before D. There is no one
between C and D attending the meeting. Two teachers will attend the meeting between B and D. Two
teachers will attend the meeting between A and F. Only one teacher will attend the meeting between F and C.
C will attend the meeting in August.
Who among the following will attend the meeting on 5th January? 

D1.
E2.
F3.
A4.
None of these5.

Que. 97 How many teachers will attend meeting between E and D?
Two1.
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Three2.
Four3.
Five4.
One5.

Que. 98 Who among following will attend the meeting on 11th April?
A1.
E2.
D3.
C4.
F5.

Que. 99 How many teachers will attend the meeting after D?
One1.

Two2.
Three3.
No one4.
Four5.

Que. 100 E attends the meeting on which of the following dates?

5th April1.

5th August2.

11th August3.

11th January4.

None of these5.
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100 Questions

Que. 1 Correct Option - 1

Que. 2 Correct Option - 2

Que. 3 Correct Option - 4

Que. 4 Correct Option - 3

Que. 5 Correct Option - 5

Que. 6 Correct Option - 2

Que. 7 Correct Option - 2

Que. 8 Correct Option - 5

Que. 9 Correct Option - 1

Que. 10 Correct Option - 2

Que. 11 Correct Option - 4

Que. 12 Correct Option - 2

Que. 13 Correct Option - 4

Que. 14 Correct Option - 5

Que. 15 Correct Option - 3

Que. 16 Correct Option - 1

Que. 17 Correct Option - 4

Que. 18 Correct Option - 4

Que. 19 Correct Option - 5

Que. 20 Correct Option - 1

Que. 21 Correct Option - 2

Que. 22 Correct Option - 1

Que. 23 Correct Option - 4

Que. 24 Correct Option - 2

Que. 25 Correct Option - 2

Que. 26 Correct Option - 1
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Que. 27 Correct Option - 3

Que. 28 Correct Option - 1

Que. 29 Correct Option - 4

Que. 30 Correct Option - 5

Que. 31 Correct Option - 1

Que. 32 Correct Option - 2

Que. 33 Correct Option - 3

Que. 34 Correct Option - 3

Que. 35 Correct Option - 2

Que. 36 Correct Option - 1

Que. 37 Correct Option - 1

Que. 38 Correct Option - 3

Que. 39 Correct Option - 2

Que. 40 Correct Option - 3

Que. 41 Correct Option - 3

Que. 42 Correct Option - 5

Que. 43 Correct Option - 3

Que. 44 Correct Option - 3

Que. 45 Correct Option - 4

Que. 46 Correct Option - 3

Que. 47 Correct Option - 1

Que. 48 Correct Option - 3

Que. 49 Correct Option - 3

Que. 50 Correct Option - 1

Que. 51 Correct Option - 1

Que. 52 Correct Option - 1

Que. 53 Correct Option - 5

Que. 54 Correct Option - 4
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Que. 55 Correct Option - 1

Que. 56 Correct Option - 1

Que. 57 Correct Option - 3

Que. 58 Correct Option - 1

Que. 59 Correct Option - 3

Que. 60 Correct Option - 2

Que. 61 Correct Option - 3

Que. 62 Correct Option - 2

Que. 63 Correct Option - 1

Que. 64 Correct Option - 3

Que. 65 Correct Option - 3

Que. 66 Correct Option - 3

Que. 67 Correct Option - 2

Que. 68 Correct Option - 1

Que. 69 Correct Option - 5

Que. 70 Correct Option - 4

Que. 71 Correct Option - 1

Que. 72 Correct Option - 2

Que. 73 Correct Option - 5

Que. 74 Correct Option - 4

Que. 75 Correct Option - 4

Que. 76 Correct Option - 1

Que. 77 Correct Option - 3

Que. 78 Correct Option - 3

Que. 79 Correct Option - 5

Que. 80 Correct Option - 2

Que. 81 Correct Option - 1

Que. 82 Correct Option - 5
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Que. 83 Correct Option - 4

Que. 84 Correct Option - 1

Que. 85 Correct Option - 2

Que. 86 Correct Option - 2

Que. 87 Correct Option - 4

Que. 88 Correct Option - 2

Que. 89 Correct Option - 5

Que. 90 Correct Option - 2

Que. 91 Correct Option - 4

Que. 92 Correct Option - 3

Que. 93 Correct Option - 3

Que. 94 Correct Option - 1

Que. 95 Correct Option - 2

Que. 96 Correct Option - 4

Que. 97 Correct Option - 5

Que. 98 Correct Option - 5

Que. 99 Correct Option - 1

Que. 100 Correct Option - 1
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